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QUESTION 1

__________ helps to understand Process behavior for parametric distribution? 

A. Median 

B. Range 

C. Variance 

D. Mode 

Correct Answer: D 

 

QUESTION 2

At a particular time, three components are in parallel and each has a reliability of 0.98. What is the reliability of the
system? 

A. 0.98 

B. 0.94 

C. 0.37 

D. 0.26 

E. none of the above 

Correct Answer: E 

 

QUESTION 3

The preferred method for determining statistically whether factor A or B is significant requires what additional
information? 
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A. value of noise factors 

B. values of responses in replicate runs 

C. number of repetitions 

D. ambient conditions during the experiment 

E. blocking pattern 

Correct Answer: B 

 

QUESTION 4

Which statement(s) are incorrect for the Regression Analysis shown here? (Note: There are 2 correct answers). 
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A. The air-fuel ratio explains most of the TurbineOutput variation 

B. The Regression explains over 98% of the process variation 

C. This Multiple Linear Regression has three statistically significant independent variables 

D. If the air-fuel ratio increases by 1, the TurbineOutput more than triples 

E. The SteamExitTemp explains the most variation of the TurbineOutput 

Correct Answer: DE 

 

QUESTION 5

A process shows the following number of defects. Each sample size for this process is 

85. 3 8 2 7 7 6 8 8 9 5 

What control chart should be used? 

A. x-bar and R 

B. median 

C. individual and moving range 

D. p 

E. np 
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F. c 

G. u 

H. none of the above 

Correct Answer: F 
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